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intentioned ideas into (___321__) will take some doing.
For a start, the guidelines for admissions under the RTE
prohibit schools from conducting any sort of student
profiling. The stress on a random yet justifiable admission
process means that schools will have to resort to
something as quirky as a lottery system. However, leaving
admission to a good school to pure (__322__) will only
incentivise manipulations, defeating the very essence of
RTE. The main problem facing the education sector is that
of a resource crunch. The provisions for ensuring universal
access to education are all very well, (__323__) we have
the infrastructure in place first. Brick and mortar schools
need to precede open admission and not the (___324_ )
way around. In that sense, legislators assessment of
ground realities is (___325__) target when they endorse
the closure of tens of thousands of lowcost private schools
for not meeting the minimum standards of land plot,
building specifications and—  CLOZETEST playground
area as laid out in the RTE Act. Instead of bearing down
(__326__) on private schools for falling to conform to
abstract bureaucratic criteria, efforts to bring sibout
universal education should focus on upgrading and
expanding the existing government school infrastructure
to accommodate all . Only then can we ensure the much
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322.
(a) benefit
(b) merit

(c) chance
(d) basis

(e) method
Q323.

323.

(a) Unless
(b) until

(c) executed
(d) provided
(e) exercised
Q324.
324.

(a) other
(b) any
(c) two
(d) differ
(e) after

needed supplydemand (___327__) in the education sector.

Q318. d) ta

318. K(e) off

(a) with Q326.

(b) for 326.

(c) on (a) soft

(d) into (b) more

(e) in (c) less

Q319. ¢ (d) only

319. (e) hard

(a) around Q327.

(b) near ¢ 327.

(c) into (a) need

(d) about (b) equilibrium
(e) reaching (c) expectation
Q320. (d) attempt
320. (e) aspects

(a) forming
(b) translatin,
(c) havin

(d) taking
(e) framing
Q321.

321.

(a) affect

(b) ideas

(c) practice
(d) concept
(e) procedure

Q322.
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Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

The (__328__) of India as an economic superpower Is not
reflected in the (___329__) of life enjoyed by its 1.2 billion
citizens according to the Human Development Index which
(__330__) India very low among __182___ countries. In
our performance oriented world, measurement issues
have taken on (__331__) importance as what we measure
affects what we do. In fact the French President has
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established an international commission on the
Measurement of Economic Performance and Social
Progress owing to his (__332__) and that of others with
the current state of statistical information about the
economy and society. The big question concerns
(___333__) Gross Domestic Product, (GDP) provides a
good measure of living standards. In many cases GDP
statistics seem to (__334___) that the economy is doing far
better than most citizens feel it is. Moreover the focus on
GDP creates conflicts while political leaders are told to
maximise it, citizens also demand that (__335__) be paid
to enhancing security, reducing air, water and noise
pollution all of which actually (__336__) GDP growth.
Statistics are (__337__) to summarise what is going on in
our complex society, it is therefore obvious that we can’t
reduce everything to a single number GDP.

Q328.

328.

(a)tribute

(b)pursuit

(c)perception

(d)1conversion

(e) title

Q329.

3209.

(a)loss

(b)quality

Q330.

330.

(a)counted ¢
(b)scored
(c)qualified
(d)regard ¢
(e) ranked v
Q331.

331.

(a)negligible
(b)great
(c)unduly
(d)trivial

(e) considerab
Q332.

332.
(a)obedience
(b)confidence
(c)belief
(d)dissatisfaction
(e) Compliance
Q333.

333.

(a)that
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337. .

(c)spirit K(a)inferred
(d)span (b)difficult
(e) Joy 0 (c)interpret
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(b)unless

(c)because

(d)against

(e) Whether

Q334.

334.

(a)suggest

(b)Recommend

(c)think

(d)point

(e) refer

Q335.

335.

(a)compensation

(b)respect

(c)debt

(d)attention

(e) expense *
Q336.
336.

(d)reveal
(e)intended

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

It is noteworthy that the prime ministers working group
set up to suggest longterm solutions to (__338__) the
graying demand for affordable food has acknowledged the
use of biotechnology as integral to a second Green
Revolution. Although Indian agriculture serves as a good
example of incorpo rating hybrid varieties of highyielding
crops, the attitude towards genetically modified or
transgenic food has been sceptical. Bt cotton is the only
(__339__) crop currently approved for (__340__) in
India. Bt brinjal is under moratorium for commercial
release. In a country where ___65__ per cent of
agricultural land is still (__341__) on the monsoon, there
needs to be far greater investment in biotechnology driven
solutions tp. in, crease yields True, there are valid health
and environment (__342__) regarding the adoption of GM
crops. It is for this reason that adequate (___343__) need S
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to be in place to ensure consumer i safety. But an
(__344_ ) rejection of genetically modified food would be
(__345__) i to the country’s food security. ,Given the huge
deficit between demand and production, there is an urgent
need to adopt a (__346__) approach to agriculture. Brazil
serves as a good example. Over the last 40 years the South
American nation has scripted an agricultural revolution in
the dry plains of the country by providing basic inputs on a
large scale and vigorously adopting GM crops. There is no
rea son why India can't (__347__) this. Storage and
delivery is the other side of the problem that can be
significantly mitigated by policy decisions that allow for
greater FDI in retail. Scientific innovations combined with
a farsighted farm to fork agriculture strategy are the
answer to India’s growing food needs.

Q338.

338.

(a) meet

(b) suggest

(c) complete

(d) seek

(e) recommend

Q339.

339.

(a) proved

(b) invented

(c) high yielding

(d) genetic

(e) organic

340.

(a) research

(b) hybrid ¢
(c) release

(d) launch

(e) cultivation P
Q341.

341.

(a) tilled

(b) dependent

(c) depends

(d) independent

(e) available

Q342.

342.

(a) concerns

(b) protests
(c) factors

(d) yields
(e) areas

Q343.
343.

(a) Warnings
(b) features
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i ieldi K(a) replicate
i (b) test
i (c) overcome
Q340. < I (d) condemn
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(c) safeguards
(d) research
(e) alerts
Q344.

344.

(a) accurate
(b) hasty

(c) absurd

(d) outright
(e) honest i
Q345.

345.

(a) risk

(b) beneficial
(c) attestation
(d) acrimonious
(e) detrimental

Q346. ¢
346,

(e) simulate

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in

each case.

The economics of owning and running a Ration Shop, the
familiar name for the outlets in our Public Distribution
System (PDS), are such that under normal business terms,

The government announces that new permits for ration
shops will be given out, there is frenzy in the market to
grab one of these. (__349___) ? The answer is obvious the
business is not for the honest and if one knows the
(___350__), there is a fortune to be made. What are these
tricks of the trade? Getting fake names into the user 1 list
is the most obvious option the State seems to be
(__351__) a losing battle against this practice, judging by
the endless efforts to weed out bogus registrations. The
next is to get the right customers on the list, not just more
customers. These are people who are registered but who
do not have any interest in (__352__) on their

entittements. In a system where caste and
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certificates are for sale, it is not (__353___) to produce
these documents for mutual benefit. Receipts are duly
made in their names, and the, rations thus drawn are
(__354__ ) off into the open market. The sale price of an
item like rice makes clear the (__355__) economics it
costs 7, 8 in a ration shop while in the latter it is ? 30 or
above. There are also customers who would rather
exchange their entitlements for hard cash at the |,
beginning of the month. As the degradation progresses, the
shop keeper, in (__356__) with the official machinery,
manages to withhold effectively the entitlements from
even the genuine beneficiaries, and diverts them to the
open market. The targeted group is usually not in a
position to (__357__) itself to getl its due. And thus one
has all (__358___) of agood PDS business.

Q348.

348.

(a) whenever

(b) quickly

(c) just

(d) as soon

(e) time

Q349.

349.

(a) What

(b) When

(c) Where

350.

(a) lying

(b) people ¢
(c) sprouting
(d) hard work
(e) ropes ¢
Q351.

351.

(a) attempt
(b) waging

(c) winning
(d) expecting
(e) trying
Q352.

352.

(a) harping
(b) discussing
(c) realizing
(d) drawing
(e) giving ,.
Q353.

353.

(a) easy

(b) must
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(d) Why K(b) voiced
(e) How (c) assert
Q350. < I (d) deliver
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(c) difficult

(d) simple

(e) enough

Q354.

354.

(a) sell

(b) borrowed

(c) donated

(d) bought

(e) siphoned

Q355.

355.

(a) understood

(b) poor

(c) underlying

(d) mechanical

(e) unclear

0356. ¢
356.

(a) meeti

(e) willful
Q358.

358.

(a) things

(b) ingredients
(c) dictate

(d) component
(e)facet

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Can an experiment conceived, carried out, and reported in
kids speak with pencil coloured figures and handwritten
tables by school children aged 8 to 10 years get published
in a highly rated international journal following a peer
reviewing process? Twenty seven schoolchildren from a
Primary School In U.K. have proved this is (__359__) — if
a simple but novel scientific question raised is (__360__)
in a scientific way. Their paper wits published in the Royal
Society’s Biology Letters journal. Their (__361__) was
that bumblebees can use a combination of colour and
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spatial relationships in deciding which colour of flower to
forage from. Considering that our understanding of how
bees perceive coloured patterns and scenes is inadequate,
this inspiring outcome has shown that schoolchildren
guided by gifted teachers can think and (__362__) out
experiments like any hardwired scientist. For these, kids,
doing science changed their (__363__) of the Subject.
Science also became cool and fun. This refreshing
approach turns the spotlight on the best methods of
teaching science. The (__364__) learning system adopted
by most schools in India, even classroom study combined
with some laboratory work with predefined outcomes,
does very little to (__365___) curiosity and interest in
science. Is that one of the (__366__) why out of the box
thinking that produces path breaking science rarefy comes
out of Indian laboratories? The children at the U.K. school
had their gifted teacher to guide them. Scientists from
India’s space and atomic energy departments and in some
other places where serious science is done can take a
(___367__) out of the schools book and (__368__) the
way in engaging with school pupils and getting them to do
real science.

Q359.

359.

(a) done

(b) unlikely

(c) potential

(d) promising

(e) possible

360.

(a) questioned
(b) said ¢
(c) retorted

(d) answered
(e) address ¢
Q361.

361.

(a) question

(b) finding

(c) methodology
(d) result

(e) studies
Q362.

362.

(a) wage

(b) create

(c) execute

(d) carry

(e) attempt
Q363.

363.

(a) option

(b) lives
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i K(a) thread
isi (b) leaf
i (c) example
0360. < I (d) look
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(c) visual

(d) demands
(e) perception
Q364.

364.

(a) revolutionary
(b) radical

(c) rote

(d) adequate
(e) bore
Q365.

365.

(a) stimulate
(b) simulate
(c) make

(d) peek

(e) judge
Q366. *
366.

(a) caus

(b) r

(c) on:

(e) pages
Q368.
368.

(a) lead
(b) start
(c) deliver
(d) paved
(e) ahead

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in

each case.

Depending upon how humanity chooses to use
technology can enhance or (__369__) any aspect of life.
The realm of interpersonal communication generally feels
this impact first. Many times throughout history, humanity
has changed its modes of communication as society itself
has (__370__). As people began to spread out
geographically, verbal communication turned to writing to
make It more (__371__). Then, people invented ways of
carrying both conversation and written communication
between their communities to keep in (__372___) with one
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another as travel became simpler. With the advent of the
telephone, people began to wonder if picking up the
receiver to call one another would eventually (__373__)
out other forms of communication. So far. as families and
friends have moved away from one another, the telephone,
even its cellular form, has allowed humanity to (__374__)
the necessary links among its members. Naturally, now
that computers, instant and text messaging, and other
forms of communication have found their way into the
world, people not familiar with these technologies wonder
what they will do to the human race. Etiquette experts and
those raised on writing formal letters often (__375__)
that email and text message lingo will replace the language
of pen and paper. This will not (__376___), and both
methods of communication can survive to enhance
humans enjoyment of one another’s company if the next
generation learns how to (__377__) both. Each form of
communication can survive with its own rules as people
learn which situations in life (__378___) for which level of
formality and which of the people they spend time with
can connect better with which type of language.

Q369.

3609.

(a) depressed

(b) finish

(c) problem

(d) hinder

(e) featured

www.jkchrome.com

K(c) accomplish
Q370. (d) study
370. < I (e) example
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(d) try

(e) turn

Q374.

374.

(a) maintain
(b) teleport
(c) cut

(d) curb

(e) regulation
Q375.

375.

(a) dominate
(b) elate

(c) worry

(d) says

(e) mentioning
Q376.

376. ¢

(a) agree

(a) evolved Q378.

(b) destroyed 378.

(c) pledged ¢ (a) correlates
(d) extinguished (b) same

(e) waited (c)Jump
Q371. ¢ (d) stands
371. (e) call

(a) expensive
(b) subjective
(c) easier

(d) loud

(e) portable
Q372.

372.

(a) lines
(b)faith

(c) distance
(d) touch

(e) check
Q373.

373.

(a) pushed
(b) cancel
(c) shells
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Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

As the country embarks on planning (___379__) the 12th
Plan (2012-17) period, a key question mark (___380__)
hangs over the process is on the energy requirements.
Growth is energy hungry, and the aspirations of growing at
910% will (__381__) huge demands on the energy
resources of the country. In this energy Jigsaw, renewable
energy will (__382__) like never before in the 12th Plan
and (__383__).By the rule of the thumb, India will
(__384__) about 100 gigawatts (Gw) 100,000 megawatts
of capacity addition in the next five years. Encouraging
trends on energy efficiency and sustained (__385__) by
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some parts of the government the Bureau of Energy (c) next
Efficiency in particular needs to be complimented for this (d) after

have led to substantially lesser energy intensity of (e) earlier
economic growth. However, even the tempered demand Q384.
numbers are (__388___) to be below 80 Gw. As against this 384.

need the coal supply from domestic sources is unlikely to (a) waste
support more than 25 Gw equivalent capacity. Imported (b)require
coal can add some more, but at a much (__387__) cost. (c) highlight
Gasbased electricity generation is unlikely to contribute (d)generate
anything substantial in view of the unprecedented gas (e) consumed
supply challenges. Nuclear will be (__388__) in the Q385.
foreseeable future. Between imported coal, gas, large 385.

hydro and nuclear, ho more than 1520Gw equivalent can (a) structures
be (__389_) to be added in the five year time (b)efforts
block.(__390__) (___391__) this, capacity addition in the (c) projections
renewable energy based power generation has touched (d)practices
about 3Gw a year. In the coming five years, the overall (e) development;
capacity addition in the electricity grid (__392_ ) Q386. *
renewable energy is likely to range between 20Gw and 386.

25Gw. Additionally, over and above the grid based (a) sure
capacity, off grid electric places and (___393__) lives (b)u

where grid based electricity supply has miserably failed. (c) xXpe
Q379.

379.
(a) against

(b) for

(c) onwards K(a) nominal
(d)at (b)excelled
(e) on (c) higher
Q380. < l (d)lower

380. (e) expected
(a) that Q388.

(b) Inside ¢ 388,

(c) always (a) failurel
(d) who (b)success
(e) where ¢ (c) dangerous
Q381. (d)maximum
381. (e) marginal
(a) forward Q389.

(b) subject 389.

(c) place (a) certain
(d) demand (b)linked
(e) replace (c) remarked
Q382. (d)expected
1(’)8)2. (e) sure

a) pass Q390.

(b) publish 390.

(c) feature (a) When
(d) find, (b)But

(e) light (c) However
Q383. %d))lf

383. e) As

(a) likewise Q391.

(b) publicity 391.

www.jkchrome.com www.jkchrome.com www.jkchrome.com



8 www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

(a) for (b) whether
(b)with (c) and

(c) is (d) for
(d)ever (e) hardly
(e) against Q396.
Q392. 396.

392. (a) created
(a) through (b) bent
(b)project (c) pressured
(c) versus (d) risen
(d)against (e) stopped r
(e) capacity Q397.
Q393. 397.

393. (a) distanced
(a) lightening (b) affected
(b)making (c) exaggerated
(c) touching (d) advanced
(d)saving (e) cropped
(e) generating 0Q398.
(___394__) over the world, rights related to information 398.
technology that are already legally recognised are daily (@) e

being violated, (__395__) In the name of economic (b) flic
advancement, political stability or for personal greed and

Interests. Violations of these rights have (___396__) new

problems in human social systems, such as the digital % ggle
divide, cybercrime, digital security and privacy concerns, 8

all of which have (__397__) peoples lives either direc 399.

or indirectly. It is important that countries come u th (a) But

the guidelines for action to (___398__) the incid (b) More
malicious attacks on the confidentiality, integrity (c) Addition
availability of electronic data and syste (d) Beside
related crimes, content related offense i (e) Further
intellectual property rights. (_399:) t iti Q400.
infrastructure and national Interests a 400.

of the internet for criminal and terrorist aeti (a) concern
growing (__400__). The harm i (b) nature
governments and individuals (c) pattern
the internet Is used (__4 (d) important
and importance, while 1 (e) matter
threatens the a of  information and Q401.
communication for government services, 401.

health care, tra anking. As users start losing (a) really

(__403_) online transactions and business, the (b) figuratively
opportunity c become substantial (c) widely
Q394. (d) never
394. (e) tandem
(a) Entire 0Q402.

(b) Lot 402.

(c) Great (a) fear

(d) All (b) days

(e) Much (c) positivity
Q395. (d) width
395. (e) scope

(a) scarcely Q403.

www.jkchrome.com
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403. (a) distanced
(a) tracks (b) affected
(b) measure (c) exaggerated
(c) confidence (d) advanced

(d) mind (e) cropped
(e) grip Q408.
(__404__) over the world, rights related to information 408.
technology that are already legally recognised are daily (a) engage
being violated, (__405__) in the name of economic (b) conflict

advancement, political stability or for personal greed and (c) war
interests. Violations of these rights have (__406__) new (d) combat
problems in human social systems, such as the digital (e) struggle

divide, cybercrime, digital security and privacy concerns, 0Q409.

all of which have (__407__) people’s lives either directly 409.

or indirectly. It is important that countries come up with (a) But

the guidelines for action to (__408__) the incidences of (b) More

malicious attacks on the confidentiality, integrity and (c) Addition

availability of electronic data and systems, computer (d) Beside *
related crimes, content related offenses and violations of (e) Further

intellectual property rights, (__409__) threats to critical
infrastructure and national interests arising from the use
of the internet for criminal and terrorist activities are of
growing (___410__). The harm incurred to businesses,
governments and individuals in those countries in which
the internet is used (__411__) is gaining in (__412__)
and importance, while in other countries cyber crime
threatens  the  application of information

communication technology for government services, 411.

health care, trade, and banking. As users sta (a) really

(_413_) in online transactions and busifiess, (b) figuratively

opportunity costs may become substantial. (c) widely

Q404. (d) never

404. ¢ (e) tandem

(a) Entire 0412,

(b) Lot 412.

(c) Great ¢ (a) fear

(d) All (b) days

(e) Much) CLOZE TEST ] (c) positivity

Q405. (d) width

405. (e) scope

(a) scarcely Q413.

(b) whether 413.

(c) and (a) tracks

(d) for (b) measure

(e) hardly (c) confidence

Q406. (d) mind

406. (e) grip

(a) created

(b) bent Directions: in the following passage there are blanks,
(c) pressured each of which has been numbered. against each
(d) risen number, five words are suggested, one of which fits the
(e) stopped blank appropriately. find out the appropriate word in
Q407. each case.

407.

www.jkchrome.com
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[ wanted to (__414___) myself a sweater. When I asked my
mother for some wool, she directed me to the old cloth bag
under the stairs. This was the bag (__415__) which my
mother had over the years (___416__) all the remains from
sweaters, scarves, cardigans and gloves that she had
knitted for herself (__417__) the family. When I opened
the bag 1 screamed What a mess I All the wool had tangled
itself into a huge knot. I said to my mother, It's hopeless.
All the wool is so badly mixed. (__418__) can I even
detangle it, let alone knit a sweater from It. She smiled and
said Its easier (__419__) you think. All you have to do is
look for the easiest knot and undo that. (___420__) thatis
done, the next knot will be easier. Just keep on doing this,
until all the wool is unravelled. 1 (__421__) as my —
mother had told me to, and sooner than I had thought, the
wool started to loosen and different colours (___422__) to
emerge. Very soon, instead of one huge untidy bunch of
wool [ had several neat balls in (__423__) of me.
Q414.

414.

(a) own

(b) does

(c) have,

(d) prepared

(e) knit

Q415.

415.

(a) from

(b) on

(c) to

(d) for

(e) in

Q416. 4

416.

(a) put

(b) keep ¢

(c) managed

(d) instilled

(e) hide

Q417.

417.

(a) and

(b) with

(c) apart

(d) aside

(e) beside

Q418.

418.

(a) How

(b) What

(c) Where

(d) Why

(e) Which

Q419.
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419.
(a) that
(b) than
(c) more
(d) those
(e) also
Q420.
420.
(a) With
(b) Along
(c) Where
(d) Then
(e) Once
Q421.
421.
) o
ollow
(¢) decided *

(a)search
(b)reward
(c)close
(d)front
(e) awe

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

A mobile phone is no (__424__) a simple device to make
calls. It has (___425__) the hub for all your activities from
emailing and browsing to paying bills and transferring
money. Banks may have been the first to (__426__) their
feet into this technological pool, but telecom companies
have (__427__) to catch up. The RBIs step to remove the
50,000 cap that it had (__428__) earlier on daily much
needed (__429__) to mobile banking. Mobile banking
(__430__) you to conduct financial transactions on your
phone just as you would at a bank branch or through Net
banking. Banks are now evolving this facility as they
launch innovative products. For (__431__). A Bank’s cash
to mobile service (__432__) customers to transfer money
to anybody, including those who do not have a bank

www.jkchrome.com
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account. A bank customer can download the banks
application on his phone and then put in the phone
number of the person to whom he wants to send the
money, along with the transaction amount. The bank will
send a message to the remitter and the beneficiary along
with different PINs to each. The remitter will have to
message his PIN to the beneficiary, who can then use both
PINs and his mobile number to withdraw cash from the
respective Bank ATM. The service is (__433__) but
operator charges will apply. Also, the sender will need a
Java enabled handset.
Q424.

424,

(a) longer

(b) much

(c) anymore

(d) doubt

(e) sooner

Q425.

425.

(a) become

(b) been

(c) changed

(d) made

(e) transformed
Q426.

426.

(a) dip

(b) stand

(c) wash

(d) touch

(e) pick

Q427.

427.

() try

(b) not

(c) begun

(d) made

(e) soon

Q428.

428.

(a) sanctioned

(b) festered

(c) impos

(d) cooked

(e) built

Q429.

429.

(a) breaking

(b) fact

(c) pushed

(d) drop

(e) boost

Q430.

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

430.
(a) forces
(b) places
(c) remits
(d) allows
(e) makes
Q431.

431.

(a) examples
(b) instance
(c) together
(d) now

(e) today
Q432.

432.

(a) permit
(b) suggests
(c) facilitated
(d) attempts
(e) enabl

number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Greenhouse gases are only (__434__) of the story when it
comes to global warming. Changes to one part of the
climate system can (__435__) additional changes to the
way the planet absorbs or reflects energy. These
secondary changes are (__436__) climate feedbacks and
they could more than double the amount Of warming
caused by carbon dioxide alone. The primary feedbacks
are (__437__) to snow and ice, water vapour, clouds, and
the carbon cycle. Perhaps the most well (___438__)
feedback comes from melting snow and ice in the Northern
Hemisphere. = Warming temperatures are already
(__439__) a growing percentage of Arctic sea ice,
exposing dark ocean water during the (___440__) sunlight
of summer. Snow cover on land is also (___441___) in many
areas. In the (__442__ ) of snow and ice, these areas go
from having bright, sunlight reflecting surfaces that cool
the planet to having dark, sunlight absorbing surfaces that
(__443__) more energy into the Earth system and cause
more wanning.

0Q434.
434.

d)sfree

(e) inaccessible

Directions: in the following passage there are blanks,
< I each of which has been numbered. against each
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(a) whole

(b) part

(c) material
(d) issue

(e) most
Q435.

435,

(a) raise

(b) brings

(c) refer

(d) stop

(e) cause
Q436.

436.

(a) sensed
(b) called

(c) nothing
(d) but

(e) term
Q437.

437.

(a) due

(b) results
(c) reason
(d)(41 those
(e)(5] because
Q438.

438.

(a)done

(b) known
(c) ruled

(d) bestowed
(e) said
Q439.

439,

(a) mastering
(b) sending
(c) melting
(d)(4] calming
(e) increasing
Q440.

440.

(a) makeshif
(b) ceasi

(c) trouble
(d) perpetual
(e) absenti
Q441.

441.

(a) decreasing
(b)manufactured
(c)descending
(d)generating
(e)supplied

www.jkchrome.com
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Q442.

442.

(a) progress
(b) reduced
(c) existence
(d) midst
(e) absence
Q443.

443.

(a) repel
(b) waft

(c) monitor
(d) bring
(e) access

Directions: in the follo ssage there are blanks,
each of whic s been numbered. against each
number, five e suggested, one of which fits the
blank approp ly. find out the appropriate word in

expansi is happening at a much (__445__) rate than
ucture expansion. Sustainability issues need to be
“@446__) so that economic development is not at the
K(4-4-7) of public health. Some urban services that
ought to be in (__448__) in a city like water, electricity,

in the provision of basic urban services in Indian
cities.(__450__) public transport is a major reason fpr the
proliferation of private vehicles on the road. Respiratory
illness in children living in urban areas is on the
(__451__ ) with, more cases of Asthma being (__452_ )
because of pollution. The future of cities of Indian dreams
depends on (___453___) we can build better cities today.
Q444.

444,

(a) dll

(b)since

(c) from

(d)after

(e) on

Q445.

445.

(a) faster

(b)slower

(c) changed

(d)speed

(e) quick

Q446.

446.

(a) speculated

transport etc. need special consideration. TERI has put
< l together a detailed report that (___449___) Sustain ability
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(b)believed
(c) imagined
(d)considered
(e) understand
Q447.

447.

(a) payment
(b) rate

(c) costs

(d) charge

(e) expense
Q448.

448.

(a) abundance
(b) large

(c) functional
(d) vicinity
(e) location
Q449.

449.

(a) bring

(b) emphasizes
(c) speculates
(d) postulates
(e) requests
Q450.

450.

(a) Good

(b) Competent
(c) Absence
(d) Inadequate
(e) Sufficient
Q451.

451.

(a) multiplication

(b) expansion
(c) rise

(d) inflation
(e) grow
Q452.

452.

(a) produced
(b) develop
(c) composed
(d) resulte
(e) reported
Q453.

453.

(a) if

(b) whether
(c) unless

(d) provided
(e) weather

www.jkchrome.com
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Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Indian culture is rich and (__454__) and as a result
unique in its very own way. Our manners, way of
communicating with one another, etc one of the
important components of our cultu

living but the rich values in a
unchanged because they, \
hearts, mind, body and {soul ich we receive from our
culture. Indian culture (__~ guests as god and serves
them and takes caiie,of them as if they are a part and parcel
of the family i en though we don’t have anything to
eat, the guests left hungry and are always looked

e 8 of the family. Elders and the respect
ajor component in Indian culture. Elders

.An (__459__) takes blessin; from his elders by
g their feet. Elders drill and pass on the Indian
are within us as we grow. Respect one another is

Kanother lesson that is taught from the books of Indian
culture. All people are alike and respecting one another is
0 ones duty. In foreign countries the relation (___460__) the

boss and the employee is like a (__461__) and slave and is
purely monetary whereas in Indian culture the relation
between the boss and the employee is more like homely
relations unlike foreign countries. Helpful nature is
another (__462__) feature in our Indian culture. Right
from our early days of childhood we are taught to help one
another (__463__) help and distress. If not monetary then
at least in kind or nonmonetary ways. Indian culture tells
us to multiply and distribute joy and happiness and share
sadness and pain. It tells us that by all this we can develop
cooperation and better living amongst ourselves and
subsequently make this world a better place to live in.
Even though India is a country of various religions and
caste our culture tells us just one thing phir bhi dil hai
Hindustani.

Q454.

454.

(a) diverse

(b) averse

(c)poor

(d)reconciliatory

(e)reverse

Q455.

455.

(a) remains
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(b) remain
(c) remaining
(d) reverent
(e) reformed
Q456.

456.

(a) ill-treat
(b) deals in
(c) treats

(d) treated
(e) behave
Q457.

457.
(a)diversive
(b) driven
(c)devastating
(d)deriving
(e) driving
Q458.

458.

(a) within
(b)surrounding
(c)proximity
(d)outside
(e)outsourcing
Q459.

4509,

(a) Individual
(b) illiterate
(c) enriched
(d) elder
(e)individuals
Q460. 4
460.

(a) among
(b) with

(c) between ¢
(d) of

(e) in

Q461.

461.

(a) master
(b) zamindar
(c)owner
(d)warden
(e) employer
Q462.

462.

(a) stricken
(b) striking
(c) negative
(d) damnable
(e) horrifying
Q463.

™
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463.

(a) for need
(b) needful

(c) in need of
(d) for want of
(e) required

Directions: in the following passage t
each of which has been numbe
number, five words are suggeste
blank appropriately. find out the
each case.

With the U.S. military tied do
of the world growing (
challenges for Rice are as(___465__) as they have been for
any Secretary of State in t three decades. After six
years of tusslinggwith others on Bush’s national security
team, Rice has lﬁr rivals and (__466__) as the
principal spo for Bush’s foreign policy. Her
0¥(___467__) responsibility for selling a
q and framing a legacy for Bush at a time

at home or abroad, says Leslie Gelb, former

“@470__) true for his Secretary of State. So they are
basically flailing around. That's a grim assessment, since
the (_471__) to international order are bigger today
than at any other time since the end of the cold war. The
most immediate source of (__472__) emanates from Iragq,
where the country’s civil war risks(__473__) a region
wide conflict.

Q464.

464.

(a) resistant

(b) subservient

(c) immune

(d) cordial

(e) indifference

Q465.

465.

(a) obvious

(b) trivial

(c) superfluous

(d) daunting

(e) rewarding

Q466.

466.

(a) renamed

(b) emerged

(c) appointed

(d) visited

(e) entrusted

Q467.

K nt of the Council on Foreign Relations. That is
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467.

(a) shirk

(b) avoid

(c) transfer
(d) inherit

(e) visualize
Q468.

468.

(a) people

(b) few

(c) diplomats
(d) autocrats
(e) most
Q469.

4609.

(a) Intensified
(b)masterminded
(c)weakened
(d)projected
(e)supported
Q470.

470.

(a) not
(b)uniformly
(c) remotely
(d)partially
(e)also

Q471.

471.

(a) admirations
(b) threats
(c)pleasantries
(d) demands ¢
(e) accolades

Q472.

472.
(a)instability ¢

(b)fuel
(c)energy
(d)peace
(e)atrocity
Q473.

473.

(a) defusi
(b)demolis
(c)terminating
(d)igniting
(e)extinguishing

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.
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The (__474__) of losing your job is getting smaller and
smaller. As economy has improved and employers have
(__475__) confidence, companies have been steadily
shedding fewer workers. The trend means greater job
security and suggests a critical turning point in the
economic recovery. It (__476__) the hope that workers
pay will finally accelerate after grinding through a sluggish
recovery for the past half decade. Wh economy,
(__477__) into recession at the end
cut deeply into their staffs. And th
they hired only (__478_).
maximize the productivity of
in recent months, the picture
have added 200,000plu

the unemployment rat ached 6.1 percent, the
lowest since 2008. Now; teadily declining level of
layoffs suggests t employers may have to hire even

sought to
employees. But

straight months, and
has

more (__480 ise pay if they want to expand their
businesses. Th ortage of laid off workers searching for
jobs mea companies may need to pay more to
(4 Other data confirm that across the
eco cuts have reached unusually low levels. Total

ay dropped below prerecession levels. Still,
fs have fallen 7.5 percent this year, actual hiring
reased just 3 percent. Thats a big reason the job
et might not seem as healthy as the series of strong

to (__482__) consumer spending and growth. After a
sharp (__483__) in the economy ill the first three months
of the year, most economists expect growth to exceed a 3
percent annual pace in the second half of 2014.

Q474.

474.

(a) risk

(b) dangerous

(c) risky

(d) prosperity

(e) aspect

Q475.

475.

(a) regain

(b) regained

(c)been regained

(d)been lost

(e) lost

Q476.

476.

(a) raised

(b) rose

(c) raises

(d) diminishes

(e)decreased

0477.

Kmonthly net job gains might suggest. Even so, more people
Q with Jobs means more people with paychecks, which tends
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477.

(a) sink
(b)sank

(c) float
(d)swam

(e) floated
Q478.

478.

(a) hesitating
(b) peacefully
(c)confidently
(d)rare
(e)hesitantly
Q479.

479.

(a) brightened
(b) shining
(c)dooming
(d) brightening
(e)doomed
Q480.

480.

(a) aggressively
(b)aggression
(c) faithful
(d)hesitant
(e)confidentially

(b) attract

(c)attracting

(d) detract ¢
(e) demean

Q482.

482.

(a) strong ¢
(b) weak

(c) weakening

(d) boosting

(e) boost

Q483.

483.

(a) contragtio

(b) contrac

(c) contracting

(d) expand

(e) expanding

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

www.jkchrome.com

There is already an extensive empirical literature often
using growth accounts that (___484__ ) these and other
aspects of India’s economic growth. Many of the studies
(__485__) one or more of the following topics. First, a
number of analysts (__486___) focused on characterizing
Indias economic performance at the most aggregate level.
While there is agreement that growth did indeed improve
during the past quarter century, researc
varying conclusions on some issues s
precise magnitude of this accelerati

the relative

importance of changes in dome There are
ongoing discussions over the ich the current
growth can be maintained means by

(__487__) it might be 4 €
examined the behavior{lof patticular output sectors. A
number of authors tudied productivity in
manufacturing ing a wide range of conflicting
conclusions. H s?xplained in detail by Goldar and
Mitra (2002 es in the findings can be (___488__)
i Strement issues, such as the use of singe
flation to construct estimates of real

turing (__489__) to have slowed in the post
period raising additional puzzles discussed below.
ever, (__490_) difficulties in  measuring

Kemployment within individual industries, our analysis
focuses (___491__) on the broader industrial sector. The 3

Q481.
481.
(a) subtract 0

studies that focus on India’s services sector (many of
which discuss the issue of sustainability), and those that
discuss agriculture, are discussed in the body of the paper.
Given the large body of prior research, many of the results
to be discussed below (__492__) already well known to
those in the field. Nonetheless, this paper seeks to make a
contribution to drat literature in a variety of ways. In
particular, the growth accounting framework, combined
with our emphasis on data issues, pulls together concerns
that have typically been treated separately, and in some
cases, raise, implications that do not appear to have been
(__493__) recognized. Our updated growth accounts
incorporate recent data revisions, some of which are quite
large. They also provide new estimates for the
contributions to overall growth of labor productivity
growth within the major economic sectors Versus the
gains from real location of labor and capital among the
factors. Furthermore, we have examined a variety of
additional data in our analysis of the role of capital
accumulation providing estimates of the returns to
schooling for human capital, and reporting on trends in
sectoral saving and investment, for physical capital. Thus,
this paper is comprised of four remaining sections. The
next section details the construction of growth accounts
for India, with considerable attention paid to the quality of
the underlying data.
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0Q484. (d)prime

4(1-8)4. (e) elementary

a)examine 0492.

(b)examines 492.

(c)forecast (a)is

(d)forecasts (b)was

(e) augur (c)shall

Q485. (d)will

485. (e) are

(a)address 0Q493.

(b)denote 493.

(c)addresses (a) consistent

(d)facilitate (b) consistently

(e) evolve (c) haphazardly

0Q486. (d) irregular

486. (e) turbulentfy

(a) has

(b) will Directions: in oﬁng passage there are blanks,
(c)should have each of whi as 'been numbered. against each
(d)have re suggested, one of which fits the
(e) had ely. find out the appropriate word in
0487.

487. development of country is (__494__) to their

(a) which ialPgrowth. In a developing country like India, Small
(b) that ale Industries play a significant role In economic
(o) if evelopment of the country. They are a (__495_ )
segment of Indian economy in terms of their contribution
towards  country’s industrial production, exports,

(d) whether

(e)whose

Q488. employment and creation of an entrepreneurial base.
488. < I These industries by and large represent a stage in

(a) devote economic (__496__) from traditional to modem
(b) attributes technology. Small industry plays a very important role in
(c) attributed ¢ widening the base of entrepreneur ship. The development
(d) decided of small industries (__497___) an easy and effective means
(e) developed of achieving broad based ownership of industry, the
Q489. ¢ diffusion of enterprise and initiative in the industrial field.
489. Given their importance, the Government policy framework
(a)appeared right from the First plan has (__498__) the need for the
(b)appears development of SSI sector keeping In view its (__499_ )
(c)looked importance in the overall economic development of India.
(d)seemed Accordingly, the policy support from the Government
(e) forecast towards Small Scale Industries has tended to be
Q490. (___500__) and favourable to the development of small
490. entrepreneurial class. Government accords the (__501__)
(a)due to preference to development of SSI by framing and
(b)because implementing (__502__) policies and promotional
(c) for want of schemes. The most important promotional policy of the
(d) than Government for the SSIs is fiscal (__503__) in the form of
(e) that tax concessions and exemptions of direct or indirect taxes
Q491. leviable on production or profits.

491. Q494.

(a)primary 494.

(b)primarily (a)related

(c)chief (b) relating
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(c)concentrated (a) unsuitable

(d)resembled (b) suitably

(e) assimilated (c) suitable

0Q495. (d) strategy

495. (e) unmatched

(a) mean Q503.

(b)vital 503.

(c)insignificance (a) incentives

(d)visual (b) imperatives

(e) insignificant (c) needs

Q496. (d) improvement

496. (e) help

(a)translation

(b) tansferring Directions: in the follo p there are blanks,
(c)transition each of which has en mbered. against each
(d) transitional number, five words are ted, one of which fits the
(e)growth blank appropri . find out the appropriate word in
0Q497. each case. *

497. Visual experie can/(__504__) children, teenagers and
(a) offer d absorb more due to its highly

(b)offers 505__) engaging impact. It is for this
(c) differ e are seeing an increase in schools across the

(d)differs ___) content provider programmes into their
(e)encourage culum to (__507__) lessons through video.
Q498. % excursions and school collaborations are (__508__)
498. advances in high definition video, high fidelity audio
(a) highlighting Kand content sharing, allowing students to experience a
(b) highlighted richer and more stimulating learning experience. Schools
(c) heighten that have previously transported students to excursions in
(d) demeaning (__509_) now face increased transportation costs,
(e) demeaned higher insurance premiums, attendance costs for the
0Q499. families and strict duty of care policies for students while
499. ¢ (__510__) school property. Virtual excursions (___511_ )
(a) strategy students to improve their presentation, research, learning
(b) less and speaking skills while they engage in a live learning
(c) complex ¢ session. Students also now have the ability to meet peers
(d) strategic from many cultures, speak to subjectmatter (___512_ )
(e) meagre like scientists or authors practise a foreign language with
Q500. students from another country, and learn about global
500. issues from the (__513__) of their own classrooms.

(a) conducive Q504.

(b) congruence 504.

() unsuitabl (a) help

(d) unfit (b) aiding

(e) unfairl (c) prescribe

Q501. (d) feature

501. (e) present

(a) high Q505.

(b)higher 505.

(c) highest (a) plus

(d) measurable (b) lonely

(e) lowest (c)ably

Q502. (d) many

502. (e) deeply
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Q506.
506.

(a) incorporating
(b)pressing
(c) following
(d)parting
(e) leaving
Q507.

507.

(a) make

(b) demand
(c)Impart
(d) vision
(e)need
Q508.

508.

(a) dissolved
(b) enhanced
(c) measured
(d) failed

(e) blasted
Q509.

500.

(a) deed

(b) total

(c) parent
(d) person
(e) lieu
Q510.

510.

(a) involving
(b) saving
(c) away

(d) off

(e) vacating
Q511.

511.

(a) let

(b) enable
(c) present
(d) pressure
(e) collect
Q512.

512.

(a) clauses
(b) dictionaries
(c) books
(d) experts
(e) partners
Q513.

513.
(a)vacancy
(b) availability
(c) safety
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(d) comfortable
(e) gap

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Agriculture is a (_514__) sector my and
credit plays an important role in g agriculture
production. Availability and acce timely and

low cost credit from instit
(__515__) especially to small
with other inputs, cre

sustainable and (__516 farming systems. Most farmers
are small producers eng: agricultural activities in
areas of widel 517__) potential. Experience has
shown that eas S t’ financial services at affordable
cost (__518 s productivity, asset formation and
urity of the rural poor. The major
vernment therefore, is to bring all the

es is of great
arginal farmers. Along

several policy measures to improve the

3 sibility of farmers to institutional sources of credit,
__520__) of these policies has been progressive
institutionalisation for providing timely and adequate

credit support to all farmers in order to (___521__) them

productivity. The policy (__522__) emphasis on
(__523__) credit flow at the ground level.
Q514.

514.

(a)integral
(b)centre
(c)dominant
(d)proven

(e) highest
Q515.

515.

(a)view
(b)importance
(c)urgency
(d)source

(e) choice
Q516.

516.

(a) isolated

(b) apportioned
(c) abject

(d) continuous
(e) profitable
Q517.

to adopt modem technology and improved agricultural
< I practices for increasing agricultural production and
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517.

(a) justified
(b) true

(c) most

(d) varying
(e) catering
Q518.

518.

(a) not

(b) seriously
(c) must

(d) positively
(e) patiently
Q519.

519.

(a) loans

(b) fold

(c) premises
(d) area

(e) branch
Q520.

520.

(a) truth

(b) aim

(c) goals
(d) founder
(e) course

(b) supply

(c) enable

(d) reach ¢
(e) focus

Q522.

522.

(a) gives ¢
(b) keeps

(c) set

(d) always

(e) lays

Q523.

523.

(a) augmentin

(b) sending

(c) submitting

(d) receiving

(e) limiting

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.
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Q521.
521.
(a) make < l
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Although John Wisdom’s writings in philosophy show
clearly the influence of Wittgenstein, they nevertheless
also display a ___1___ originality. Despite the __ 2 and
difficult of his style, a careful reading of Wisdom is seldom
__3__ He is unique kind of genius in philosophy. This
essay is an excellent example of Wisdoms repeated
attempts to __4___ the ultimate bases of phllosophlcal
perplexity. A great deal of the time Wisdo
finding out why metaphysicians feel S
sentences (e.g, Time is unreal,
things, etc). According to Wisdo
false (and perhaps meaningle
more than Wittgenstein, has stressed the
therapeutic conception a view that comes
out, clearly in this essaywherethe emphasises the analogy
between philosophical a otic distress ___8___ them
with other kinds roblems. The reader who is interested
in gaining a fu ith Wisdoms thought is referred
to his famou Gods in philosophy and Psycho

analy31s in Wisdoms most ___10___ discussion

d in many his finest work.
o

arked

(d) limited
(e) relative

Q525.
2.
(a) individuality
(b) novelty
(c) originality
(d) complexity
(e) creativity
Q526.
3.
(a) unprofitable
(b) useful
(c) advantageous
(d) unreliable
(e) durable
Q527.
4.
(a) jettison
(b) delimit
(c) augment
(d) fortify
(e) explore
Q528.
5.
(a) admirably
(b) primarily
(c) advertantly

7 . Even

www.jkchrome.com



21 www.jkchrome.com

(d) reluctantly
(e) happily
Q529.

6.

(a) depressed
(b) confined
(c) alluded

(d) compelled
(e) adapted
Q530.

7.

(a) llluminating
(b) damaging
(c) confusing
(d) critical

(e) unreliable
Q531.

8.

(a) compelling
(b) associating
(c) contrasting
(d) describing
(e) advocating
Q532.

9.

(@) comparison
(b) analysis

(c) agreement
(d) elaboration
(e) acquaintance
Q533.

10.

(a) projected ¢
(b) sustained
(c) prolonged
(d) prolific ¢
(e) attributed

Directions: in the following
each of which ha
number, five words a

age there are blanks,
numbered. against each
ested, one of which fits the
out the appropriate word in

each case.
A friend | friend indeed. A man who stands
_ 11 hi in__12___is a true friend. Selfless love
is the base of true friendship. True friends share each
others Joy and sorrow, pain and pleasure. They do not fall
__13__ in adversity. They have full confidence in each
other. They never ___14__ each other. __15__ makes
friends, adversity tiles them. A selfless friendisa__16__a
selfish friend is a curse. The first is an angel and the second
is a devil. One makes your career while the other ___17___
it. True friendship means great self sacrifice on the part of
both. A true friend __18___ pleasure and convenience. He
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goes out of his way and faces difficulties in his way with
joy and even with pride. Joy and sorrow, success and
failure, good fortune and misfortune, are equally ___19___
by a pair of true friends. They __20___ the burden of life
equally for they feel that they sail in the same boat and that
they have to sink and swim together.

Q534.

11.

(a) to

(b) with

(c) for

(d) by

(e) of

Q535.

12.

(a) adversity

(b) commotion

(c) change *

(d) happiness

U

K() through
Q Q537.

(a) postulate
(b) commit
(c) danger
(d) deplete
(e) betray
Q538.

15.

(a) Wealth
(b) Prosperity
(c) Man

(d) Providence
(e) Wellbeing
Q539.

16.

(a)boon

(b) force

(c) blessing
(d) calamity
(e) message
Q540.

17.

(a) throws
(b) develops
(c) constructs
(d) mars
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(e) lacks
Q541.

18.

(a) foregoes
(b) mitigates
(c) evolves
(d) appraises
(e) prospers
Q542.

19.

(a) built

(b) pleased
(c) admired
(d) advocated
(e) shared
Q543.

20.

(a) expect
(b) shoulder
(c) dislike,
(d) propose
(e) project

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word i
each case.

The Government seems to be in right earnest t
more __21__ in governance. The Prime
announcement that his Government is ___ drafting
legislation to ___23___ the citizens righ i
indeed welcome. Though the talk Lo
Information is not new, we may __2
brought early this time. The previpus Gov
up a high level committee to _
nothing has been heard about
committee did quit some

ment had set

bill. But
er since’___25___ the
issue, however, has

ion cannot be ___27___
disinfectant, a foreign Judge
unwarranted secrecy in an

further. Sunlight is t
once said, while
administrative s
people have
is under the
_30_o
party ends Is les
Q544.

21.

(a) strictness
(b) rudeness

(c) leniency

(d) economy
(e) transparency

Q545.
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22.

(a) personally
(b) busy

(c)not

(d) reluctantly
(e) absolutely
Q546.

23.

(a) presumption
(b)absolve

(c) curb
(d)question

(e) establish
Q547.

24,

(a) expect

(b) wait

(9try ¢

(d)frustrate

g act
(e) unearth
Q549.

26.
(a) even
(b) as

(c) because
(d) until

(e) though
Q550.

27.

(a) found

(b) expect

(c) delayed
(d) looked
(e) longed
Q551.

28.

(a) nurturing
(b) criticising
(c) demanding
(d) appreciating
(e) upholding
Q552.

29.

(a) pretention
(b) substance
(c) property
(d) affect
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(e) obligation
Q553.

30.

(a) misuse

(b) governance
(c) dishonour
(d) curbing
(e) breach

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

The tea plant, a native of Southern China, was known
__31__ very early times to Chinese botany and medicine.
Itis __32__ to intheclassics ___33___the various names of
Tou, Tseh, Chung. Kha and Ming and was ___34___ praised
for possessing the viruses of ___35___ fatigue, delighting the
soul, strengthening the will and repairing the eyesight. It
was not only administered as an internal dose, but often
_35__ externally in the form of paste to __37__
rheumatic pains. The Tao ists claimed it ___38__ mi
important ___39___ of the elixir of immortality. The
Buddhists used it extensively to prevent drowsiness
during __40___long hours of meditation.

(c) from

(d) beyond

(e) behind ¢
Q555.

32.

(a) taken

(b) resorted ¢
(c) awarded

(d) alluded,

(e) introduced

Q556.
33.

(a) under
(b) betwe
(c) among
(d) besides
(e) like
Q557.

34.

(a) rarely
(b) loosely
(c) under
(d) severely
(e) highly
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31.

(@) to

(b) after < I
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Q558.
35.

(a) absorbing
(b) relieving
(c) avoiding
(d) resolving
(e) recognising
Q559.

36.

(a) Inserted
(b) developed
(c) conceived
(d) controlled
(e) applied
Q560.

37.

(a) recuperate
(b) alleviate *

(c) conceal

(d) as
(e) hardly
Q562.

39.

(a) ingredient
(b) aspect

(c) offshoot
(d) outcome
(e) discovery
Q563.

40.

(a) that
(b)these

(c) their

(d) our

(e) remote

Directions: in the following passage there are blanks,
each of which has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

In these days ,of economic liberalisation, globalisation etc.
materialistic values have assumed ___41__ importance,
Money, physical comforts and luxuries are the most sought
after aspects .There has been ___42___ competition. Such
competition __43__ undue stress. The stress leads to
__44__ of health of the people. Indian culture has __45___
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its striking uniqueness, as against the Western culture, in (c) vital

the fact that there is a ___46___ place for spiritualism in our (d) common
value system in all walks of life. The spirituality is a very (e) dynamic
__47___ force which helps us in maintaining our physical Q571.

and mental health. It gives us ___48__ to cope with the 48.

stress. Westerners have now ___49___ the importance of (a) strength
spirituality and, therefore, they have started ___50___ us in (b) tips

the matter of spirituality. (c) clearance
Q564. (d) sermons
41. (e) ideals
(a) usual Q572.

(b) little 49,

(c) tangible (a) informed
(d) least (b) narrated
(e) greater (c) intensified
Q565. (d) realised
42. (e) invented

(a) critical Q573. *
(b) unhealthy .

(c) unequalled
(d) no

(e) absolute

Q566.
43.

(a) releases

(b) deserves 3ctions: in the following passage there are blanks,
(c) generates Keach of which has been numbered. against each
(d) demonstrates number, five words are suggested, one of which fits the
(e) suppresses blank appropriately. find out the appropriate word in
Q567. 0 each case.

44, The first proposal I submitted for my dissertation at UCLA
prop y
(a) neglect was to write a theory of personality. My chairman, a kindly

(b) illness L 2 man, smiled ___51___ and told me that perhaps this was a
(c) generation bit ambitious for a young graduate student._ 52_ _ I
(d) deterioratibn accepted his verdict and changed my topic, but not my
(e) encroachment ¢ desire. It ___53___ later, when I had a chance to begin to
Q568. __54__ atheory in my research on group dynamics for the
45. Navy during the Korean War. As I ___55__ the reasons for
(a) maintained the persistence of my interest in overarching theory, I had
(b) illustrated an ___56__ memory. When | was around eight years old, I
(c) marginalized was a ___57___ baseball fan, as was my father. My hero was
(d) bestowed Lou Gohrig. I would approach my father in an attempt to
(e) forsaken prove to him how good Gohrig really was Hehit__363__,
Q569. had __49___ home runs, batted in ___165___ runs. He's
46. terrific I My father’s response caught me off guard Yes, but
(a)vast he cant field. I wasn’t prepared for that. From then on, my
(b)brief way of ___58___ with my father’s responses was to make
(c) formal sure I knew everything about any topic I wanted to talk to
(d) clean him about. Partly as a __59___. I became a honest, [ had to
(e) distinct make sure [ had ___60___for everything.

Q570. Q574.

47. 51.

(a)dormant (a) usually

(b) dedicated (b) profusely,
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(c) benignly r
(d) abruptly f
(e) decidedly
Q575.

52.

(a) Indolently
(b) Skillfully
(c) Enchanted
(d) Constrained
(e) Chagrined
Q576.

53.

(a) lamented
(b) resurfaced
(c) appreciated
(d) provided
(e) projected
Q577.

54.

(a) inject

(b) involve
(c) exhibit,
(d) formulate
(e) establish
Q578.

55.

(a) pondered
(b) evaluated
(c) developed
(d) perfected
(e) appreciated

Q579.
56. 2

(a) interesting
(b) obvious
(c) engulfing P
(d) esteemed
(e) evolving
Q580.

57.

(a) precarious
(b) haunting
(c) deliberat
(d) pervasive
(e)rabid
Q581.

58.

(a) patience
(b) alliance
(c) influence
(d) coping
(e) questioning
Q582.

59.
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(a) custom

(b) capacity

(c)defense

(d) preference

(e) posterity

Q583.

60.

(a) consideration

(b)accounted

(c) longing

(d)regard

(e) established

Directions: in the follo p there are blanks,
each of which has en mbered. against each
number, five words are ted, one of which fits the
blank appropri . ﬁng out the appropriate word in

each case.

Lately, the me eems to have gone berserk in (__61__)

everythi s to the New Economy . Behind the

great rticles on the subject are two (__62__)
irst, that the New Economy businesses are

Old Economy industries all the way into
pn. Second, that (__63___) about the New Economy is
perior to that of the Old Economy. Both those
phatic assumptions could be (___64__) flawed. Physical

age of the Internet, After all, the consumption of physical
goods is hardly going down. In everything—from steel
automobiles (__66__) Is only going up. But above and
beyond all this, the New Economy also needs Old Economy
products to survive. You can sell goods on the Internet,
ater all, only if (__67__) is producing those goods. Besides
which, people still want all those Old Economy goods. As
far as the second point is concerned, the one big weakness
about the new Economy is that it is (__68___) more volatile
than the Old Economy. The rate of evolution of products—
the crux of the Old Economy—will (__69__) always be
slower than the rate of the growth and proliferation on
new ideas on any given subject. And hence, the Old
Economy (based on products) will always be relatively
more (___70__) than the New Economy (based largely on
ideas).

Q584.

61.

(a) listening

(b) advocate

(c) ignoring

(d) adopting

(e) viewing

Q585.

62.

(a) bold

K}:roducts—the cornerstone of the O0Old Economy—are
Q ardly likely to (__65___) out in importance even in the
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(b) emphasizing 70.

(c) underlying (a) stable

(d) overriding (b) dogmatic

(e) overlapping (c) fragile

Q586. (d) volatile

63. (e) specific

(a) glitter (__71__) Stringent antipollution laws, mass awareness
(b) everything levels in India about the need to 72___) the
(c) each thing environment are low. Which is (_ people
(d) proceed Insist that mere laws won’t do what ___) need are
(e) highlight environment conscious citizens. i context that
Q587. the University’s (__75__) e environment
64. studies as a compulsory pape e undergraduate level
(a) thinking (__76__) significance. T asgseime (___77__) initially
(b) deliberately about who would teach {the paper be CLOZETEST —cause
(c) casually financial (__78__) mak possible for colleges to
(d) carelessly (___79__) appro for new teaching posts. In fact, in
(e) seriously August 1999, iversity Grants Commission (UGC)
Q588. imposed a ba creation of new teaching posts in
65. colleges. with this problem, authorities at the
(a) lose i cided that serving teachers belonging to
(b) charm i i lines will teach the paper.

(c) iron

(d) stand

(e) bear S pi

Q589. by Having

66. K(c) Enacting

(a)trend (d) Although

(b) movement (e) Adopting

(c) consumption O Q595.

(d) cost 72,

(e) production (a) contaminate

Q590. ¢ (b) clean

67. (c) filter

(a) mass (d) protect

(b) someone ¢ (e) pollute

(c) none Q596.

(d) person 73.

(e) marketing (a) resulting

Q591. (b) why

68. (c) obvious

(a) obviously (d) because

(b) reportedl (e) as

(c) natura, Q597.

(d) intrinsi 74.

(e) abysmally (a) seldom

Q592. (b) don’t

69. (c) hardly

(a) subjectively (d) actually

(b) deliberately (e) perfectly

(c) have Q598.

(d) accordingly 75.

(e) necessarily (a) inability

Q593. (b) deferral
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(c) decision
(d) reluctance
(e) failure
Q599.

76.

(a) extracts
(b) trivalency
(c) expects
(d) assumes
(e) loses
Q600.

77.
(a)displeasure
(b)antagonism
(c)hurdles
(d)confusion
(e) priority
Q601.

78.

(a)losses

(b) constraints
(c) apathy

(d) soundness
(e) independence
Q602.

79.

(a) receive
(b) establish
(c) emphasize
(d) expect

(e) sanction

Q603.
80. 2

(a) Down

(b) Familiarity

(c) Faced

(d) convinced ¢
(e) solution

Directions: in the fi passage there are blanks,
each of which s numbered. against each
s uggested, one of which fits the
. find out the appropriate word in

(___81__) the city’s intelligentsia is (__82___) on the dregs
of what was a livewire party an hour ago. Poets, editors,
writers, filmmakers, all card-carrying members of the rich
and powerful, not at this late hour, on their I their ninth
drink are (__83__) in what Indians are best known to do
media bashing, armchair criticism and name-calling.
Inevitably the talk turns to Tehelka, and its managing
director and editor-in-chief, Tarun Tejpal, and the party
quickly degenerates into an orgy of guilt and shame and
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that peculiar habit of the Indian intelligentsia passing the
buck, with every one present attacking his neighbour for
not supporting Tejpal more. It is a trait Tejpal is (__84__)
with and has been telling me about in the weeks preceding
this interview. Often at parties when someone (___85_ )
me great job, cany on what you are doing, and showers
with me staggering praise, staggering love, staggering
(__86__) Ijust smile and let it pass as | ant to score
a brownie point and say, and what a
will you do ?This lightly tossed sen
hint of a dark chuckle is the only_ ti
allow for bitterness, though I
weeks for sings of it. Because,
victim of the most (___ ove
recent years, Tejpal is gly devoid of (___89__)
You expect him to rage, fire, to heap scorn and
anger at his enemies, and instead, what you encounter, is a
man in whose see only compassion and a weary
understandin

the slightest
seen Tejpal
87__) him for
n who has been the
ent witch hunts in

inlike his armchair supporters in the
o rave and rant on his behalf, but do

has been shaped by literature has helped. I'm
black and white person. Im a (__90__) who

(d) feeding
(e)feeded
Q606.

83.
(a)mixing
(b) lending
(c)scaring
(d) indulging
(e)pushing
Q607.

84.
(a)ordinary
(b) familiar
(c)strange
(d) free
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(e)rutine
Q608.

85.

(a) bold

(b) said

(c) ask

(d) say

(e) tells
Q609.

86.

(a) delight
(b) contempt
(c) worship
(d) affection
(e) admiration
Q610.

87.

(a) lure

(b) teasing
(c) baiting
(d) harassing
(e) matching
Q611.

88.

(a) gentle
(b) good

(c) virtuous
(d) vicious
(e) wicked

89.
(a) forbearance

(b) anger ¢

(c) wrath

(d) forgiveness

(e) gale ¢
Q613.

90.

(a) boy

(b) guy

(c) youth

(d) human being
(e) fellow

Directions: e following passage there are blanks,
each of which”has been numbered. against each
number, five words are suggested, one of which fits the
blank appropriately. find out the appropriate word in
each case.

Many kinds of insects are (__91__) and larger animals
learn to (___92__) eating them. It is in the (__93___) of
these insects to show a (__94__) flag of some kind. The
typical wasp, for example, __195__) a conspicuous colour
pattern of black and yellow (__96__) on its body. This is
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(d) avoid
0612, 0 (e) nurture
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(___97__) distinctive that it is easy for a (___98___) animal
to remember it. After a few unfortunate experiences is
quickly learns to (__99__) insects bearing this pattern.
Other, unrelated, poisonous insect species may also carry a
similar pattern. They become members of what has been
called awarding club. The important point for us, in the
present (___100__) is that some harmless species of
insects have taken (__101__) of this sys developing
colour patterns similar to those of the

for instance,
bodies that
. By becoming

benefits without having
killers dare not attack
reality, make a (__105___

Q614.

91. *
(a) flying

(b) cons

(v le

m, evVen though they would, in

Q616.

93.

(a) habit

(b) interest
(c) goodwill
(d) welfare
(e) help
Q617.

94.

(a) dangerous
(b) ambiguous
(c) warning
(d) coloured
(e) safety
Q618.

95.

(a) reveal
(b) paints
(c) flashes
(d) carried
(e) loaded
Q619.

96.

(a) bands
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(b) pieces
(c) paint

(d) colours
(e) clothes
Q620.

97.

(a)so
(b)extremely
(c)normally
(d)too
(e)very
Q621.

98.

(a) bold
(b)prey
(c)chased
(d)predatory
(e)hunted,
Q622.

99.

(a)hate

(b) love
(c)approach
(d) abstain
(e) avoid
Q623.

100.

(a)text

(b) premise
(c)context
(d) day

(e) view
Q624.

101.
(a)profit

(b) yield
(c)disadvantage
(d) ride

(e) advantage
Q625.

102.
(a)display
(b)indicates
(c)annou

(d) wear

(e) bears
Q626.

103.

(a) unregistered
(b) fake

(c) honorary
(d) sycophant
(e) original
Q627.
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104.
(a)transport
(b) Inject
(c)possess

(d) earn

(e) load,
Q628.

105.

(a) troublesome
(b) delicious
(c) indigestible
(d) hazardous
(e) cheap

Directions: in the following passage there are blanks,
each of which has b mbered. against each
number, five wokds are suggested, one of which fits the
blank approp nd out the appropriate word in
each case.
Most of ___) of open Conflict and avoid it if
we caft. re is a (__107__) to expressing and

s Can be (__108__). Sometimes permanently.
roup members may be afraid that if they really

become violent or they may do this. These fears can be
very (__110__) and based on experience. So why take the
risk ? Why not avoid conflict at all costs ? Conflict is rather
like disease (___111__) is best. That means attending to
areas where (__112__) may occur before they become an
issue. If you have not (__113__) a conflict happening, your
next choice is to treat it early, or hope that it goes away. If
it goes away over time fine. If it (__114__), then you will
still have to handle (treat) it and it is likely to be more
(__115_).

Q629.

106.

(a) scared

(b) carefull

(c) reckless

(d) aware

(e) worried

Q630.

107.

(a) challenge

(b) measure

(c) principle

(d) chance

(e) risk

Q631.

108.

(a) established

(b) maligned

K 109__) their anger, they may go. out Of control and
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(c) damaged Directions: in the following passage there are blanks,
(d) rebuilt each of which has been numbered. against each
(e) involved number, five words are suggested, one of which fits the
Q632. blank appropriately. find out the appropriate word in
109. each case.

(a) sublimate Economic growth figures for the first quarter of this
(b) express financial year seem to support the claim that the worst
(c) minimize may be over for the Indian economy. The | revival is
(d) regulate also an indication that the governmen stimulus
(e) control package is (__116__). What coul er, upset the

Q633. positive outlook is the drought wh (__117__) large
110. parts of the country and its impa 11 growth. Even
(a) baseless though the monsoon had pic __118__) the rains

(b) imaginary received were grossly . There are clear
(c)exaggerative (___120__) that farm o icularly cereals, will fall
(d)real drastically. Insufficient bound to shoot up the

(e) national (___121__) of agsicultural commodities and that would

Q634. impact the eco hole. The drought would also
111. (122 eduction in rural employment and
(a)cure consump deés“inflation In the prices of food articles.
(b)diagnosis Food been (__123__) since the past few
(c)prescription lower agricultural production, is likely to
(d)prevention e situation. The government has said that

(e) medicine from the buffer stocks will be used to keep

Q635. D $/(__125__). Subsidised food grain is necessary in
112. ] times, but its effectiveness will depend a lot on the

(a) harmony distribution system.
(b) discomfiture Q639.
(c)disagreement 116.

(d)consensus < I (a) impractical

(e) statement (b) ambiguous

Q636. . (c) failing

113. (d) working

31))) expreszed (e) weakening

ignore Q640.

(c) induced ¢ 117.

(d) seen (a) strike

(e)perverted (b) affected

Q637. (c) exposed

114. (d) revered

(a) doesn’t (e) altered

(b) wont Q641.

(c) dont 118.

(d) not (a) unseasonably

(e)hasnt (b)unfavourably

0638. (c)presently

115. (d)meagrely

(a) credible (e)later

(b) serious Q642.

(c) fraudulent 119.

(d) urgent (a) Inadequate

(e)skilled (b) enough
(c)missing
(d) ample
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